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لى الامسات
ب ات ع دري   ت 

2𝑥 − 1  −4𝑥 + 8 = −6 + 3𝑥
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− 3 =

−𝑥+3
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−0.2(𝑥 − 3) − 𝑥 − 0.9 = 0.4𝑥 + 0.5  
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5  𝑥 𝑥 + 3 = −
2

5
(2 − 𝑥) + 2 𝑥 +

11

2

𝑎𝑥 − 𝑏 = 𝑐(1 − 𝑥)𝑥
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−4𝑥 + 2 < 2𝑥 − 7

−5 ≤ 7 −
2

3
𝑥 < −1

3𝑥3 − 2𝑥2 + 3𝑥 − 8−5𝑥3 − 4𝑥2 − 𝑥 − 9
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x

4𝑥2+4𝑥 = 2−6

𝑖 = √−1𝑖18

ሼ−1,3ሽ 

ሼ1, −3ሽ 

ሼ−1, −3ሽ 

ሼ1,3ሽ 
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𝑖 = √−1𝑥 + 𝑖𝑦 =
5+3𝑖

2−𝑖
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𝑥, 𝑦𝑦
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𝑓(𝑥), 𝑔(𝑥)𝑓𝑜𝑔(0)
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35𝑜

47𝑜

 𝜃𝑠𝑒𝑐𝜃

sin 𝜃
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